F1XKiR FE2KiR ZE5KiR =1KR F2KiR FE5KR F1KiR FE2KiR FE5KiR =1KR F2KiR E5KIR
KEREHR (FPFK)RK (€: 9291V 3 (FFK)RK (FHFX)FRK (FFK)IRK (FFK)RK (FPFK)RK FHFXKRK (FFK)FRK (FHFX)FRK (FPFK)RK (FHFX)FRK
6H10H 6H10H 68108 9H20H 9H20H 9H20H 12819R 12819H 12819R 3A158 38150 3A158
JKERE ! EA
HE 1| AR 100/mIEA T {f8/ml] 590 450 480
H 2 |KE&HE (MPN) MPN/100mL = 0.0 0.0 0.0 3.0 9.7 5.2 0.0 10.9 0.0 0.0 0.0 1.0
H 3 |HWFEVLRUVZDIEEY 0.01LLF mg/L 0.0001 =i 0.0001 =% 0.0001 =i
x4 |KERUVZDIELEY 0.0005LLF  {me/L 0.00005 =i 0.00005 =i 0.00005 =i
H 5 [ELVRUZDILEY 0.01LLTF me/L 0.001 =i 0.001 sk 0.001 *%
HE 6 [SMRUZDILEY 001LLF  Img/L 0.0005 s*i# 0.0005 % 0.0005 *i#
HE 7 [ERRUZDILEY 0.01LLTF me/L 0.001 =i 0.001 sk 0.001 *%
H g [AKfEivoLiLEYy 0.02LLF me/L 0.001 =i 0.001 sk 0.001 *%
H o (FHEBEZRR 0.04mg/ILLF ! me/L 0.004 *i 0.004 % 0.004 %3
H 0 [T7UEMAF U RBEILS T 0.01LLF me/L 0.001 =i 0.001 sk 0.001 *%
H 11 (HBREERRUBHBEESR 10.0LLF mg/L 1.1 0.3 0.64
H 12|79vRRUZDILEY 0.8LLTF me/L 0.05 *i# 0.05 *i 0.05 %
H 13|RIRRVUZEDEEY 1.0LLF mg/L 0.02 *i 0.02 x*i#& 0.02
14 |migLRFE 0.002LL T mg/L 0.0001 =i 0.0001 =% 0.0001 =i
® 15(1, 4—CHFH> 0.05L1F me/L 0.001 =i 0.001 sk 0.001 *%
H 16 [¥2—1. 2—YYRATFLURUISYR—1, 2—S5RRTFLY 0.04LLF mg/L 0.0002 =i 0.0002 =% 0.0002 =i
17|00 ray 0.02LLF me/L 0.0001 s* 0.0001 s 0.0001 s
X 18|70 FLY 0.01LLF mg/L 0.0001 =i 0.0001 =% 0.0001 =i
E 19|k)oapnTFLY 0.03LLF mg/L 0.0001 =i 0.0001 =% 0.0001 =i
H 20 (RNt 0.01LLF me/L 0.0001 s* 0.0001 s 0.0001 s
H 21 |{EREE 06LLTF mg/L.
#H 22 |/0OEEE 0.02LLF  img/L
£ 23 |/00OfRILL 0.06LLF me/L
H 24 |P>/OOEE 0.03LLF  ime/L
£ 25 |0T70F/O0A%Y 01LLF ma/L
H 26 |RFREE 001LLF  img/L
H 27 |[RRYNOAZY 0.1LTF mg/L.
# 28 |~)Y/OOEER 0.03LLF  {me/L
H 29 ([TREDHAOAZY 0.03LLTF me/L
# 30 ([FAERILL 0.09LLF me/L
E 31 |RILLTFILTER 0.08LAF  img/L
H 32 |FERRUZTDEEY 1.0LLF mg/L 0.001 0.005 0.003
H 3B|FIZZVLRUVZDILEY 0.2LLF mg/L 0.004 0.01 0.005
H 34 [HRUZDIELEY 0.3 TF me/L 0.01 =% 0.05 001 %
& 35 |fARUVZDILEY 1.0LLF mg/L 0.001 0.009 0.003
H 36 |FRIVLRUZDIEEY 200LLF mg/L. 7.6 45 5.3
®H 37 (RUAVRUZEDIEEY 0.05LLF mg/L 0.001 = 0.004 0.001 =&
H 38 (L1 A4> 200LLF me/L 51 41 5.1
H 39 (AL IL ITRIYLE (FBEE) 3004 F me/L 39 20 18
H 40 |ARREED 500LL T mg/L. 82 52 52
2 41 (BAAFREEEH 0.2LLTF me/L 0.02 i 0.02 %3 0.02 %
H 42 (PzAHRIY 0.00001LATF | me/L
H 43 2—AFIIAYRILAF—IL 0.00001LATF | me/L
H 44 |EAA FREEER] 0.02LLF  Img/L 0.002 *# 0.002 % 0.002 %3
H 45 (0x/—)LEE 0.005LLF  Ime/L 0.0005 =i 0.0005 0.0005 *i#
H 46 |[BHEY (@F# xR (TOC)D=E) 30LLF mg/L 0.3 0.6 0.3
H 47 |pHIE 581 L86LIT ! - 6.3 5.9 5.9
H 48 [k BETHNIE! - BEEGL EELL BEGL
H 49[R% BETHNIE! - BEEGL EELL BEGL
H 50 [BE 5FE LT 5 0.5 *i% 2.1 0.5 *i&
H 51 [BE 2ELLT B 0.1 % 0.3 0.1 *xi&
BREIEFRE (DTILYAEFR) = /100w 0 0 0 0 1 0 0 3 0 0 1 0
HYTRRRY D) L = /10l 0 0 0
CTIDT - f@/10,] 0 0 0




